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BEELTIHEIRTRIIAFZHBAZICHERLTLET,

SEODHCGERNRE 4, BERE1HEFIRELTVET,
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2. IRILF—EFHARR-BEIRRTUIvIL
D IB-ELECBFI2RDIRILF—ERE

<IARILF—FERI> <fFERE> <[FHgE>

BR 38,900.0 kWh 9.795 K
AR HA(LPG) 70,000.0 kg 91.745 K
Z Dt kI
ZDith2 kI

& 101.540 kI

Q@ PHHRHBOIFILF—FERERER)
<IRILF—HERI> <ERE> <[RiHRE>

ER 20,000.0 kWh 5.036 ki
AR 71 A(LPG) 50,000.0 kg 65.532 ki
ZDHh1 Kl
ZDih2 Kl

&5t 70.568 KI

@ ZHHRHRMBHOIRILF—HIBEEES)
<IRILF—RERI> <ERE> <[FHgE>

Eo 2,780.0 kWh 0.700 kI
AR HA(LPG) 10,680.0 kg 13.998 K
Z Dt kI
ZDith2 kI

&5 14698 K
@ BIRRTUIVIL XEHBEETOLE (EE)

,Eiiiﬁgﬁ ERNE | mEnE | EANEE ,%f;é%a?ﬁ
101.540 ki 0.700 kl | 13.998 ki 14.698 ki ‘ 86.842 ki
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